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assclosed
?STAMPREG,(amount=0),{}

assclosed

T,true,{}
_—

5708, assclosed
?TRANS,(trans_id=“TM _FLUSH”"),{}

assclosed

5685,

PRHCOPY true {} $680, assclosed ’—.%T,true,{} 8757,

assclosed

T true,{}
_—

s614, assclosed

T, true,{} T, true,{}
e

s758, assclosed ——— s756,
?GET,(var _name=“CS_ ACCNT”){} 724
S )

5638,

5533,
?PRINT _EXIST,true,{}

assclosed

assclosed

assclosed
?TRANS,(trans_id=“TM _BANK2”),{}

assclosed
?GET,(var_name=“CS_SIGN”),{}

assclosed

?RESETCR,true,{}
s875,

s829, assending
?GET,(var_name=“CS_ACCNT”),{}

assending

5865,
?IDLE true,{}
e,

assending

?RECEIPT true,{}

5852, assending 5842,

?ARTID _EXIST,true,{}
= s771,

s770, assending
?ARTID WEIGHTED,true{}

assending

assending

1510, true,{} ?TRHCOPY ,true,{}
EEE—

assending 8807,

s781,

m s898, assending % s841,

?GET,(var _name=“CS_EVENT”),{}
= = 5800,

T, true, . T,true, . ?TRHCOPY EXIST,true,
—{}> 5899, assending —{}> s897, assending = {

assending

assending

assending

$544 , assclosed ————— 8543, assclosed ——— $579,

assending

PRESUME, true.{} $818, assending —>T’tme’{} $806,

?GET,(var _name=“CS_SIGN”){}
= = s760,

assending

assending
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?TRESUME true,{} 7, true,{}

assidle

$252, assidle RALAEAEN 5240,
?GET,(var _name=“CS_SIGN”){} 519/

assidle

assidle

7, true,{}
EE——

5355, assidle LLE’{}% 5353,

7,stored _account=true,{}
5317,

assidle

7,stored _account=true,{}

assidle

assidle

7, true,{}
e

5286,

true,{}

5356, assidle ——11y 8354, assidle PEIGNOF true,{}

5297,

assidle

?TRESETCR,true,{}
5263,

?GET,(var_name=“CS_EVENT”) {}

assidle

234,

?ARTID EXIST,true,{} 1510, true,{}

assidle

?OPEN ,true,{}
R —

8205, assidle ————— $204, assidle 8276,

assidle

?ARTID WEIGHTED true,{}
= 215,

7,stored _account=true,{}

assidle

8341,
?PRINT _NEXIST,true,{}

assidle

5829,
?GET,(var _name=“CS_ ACCNT”),{}

assidle

307,

?RHCOPY ,true,{} T, true,{} ?ARTID WEIGHTED ,true,{}

assidle

assopen
assopen
assopen
assopen,
assopen,
assopen
assopen
assopen
assopen,
assopen
assopen

assopen

sssoff —————

?RESETCR,true,{}

8241, assidle ———= s275, assopen = 379,
?GET,(var _name=“CS ACCNT”),{} 5497,

5405, assopen ﬂ 5439, assopen

?GET,(var _name=“CS_EVENT”),{}
— = 5398,

?ARTRET_EXIST,true,
M 5530, assopen M $529, assopen = frue, ) 5487,

PRESUME, true.{} s416, assopen —)’{} 8404, assopen —>’{} $531,

?RHCOPY EXIST,true,{}
— 518,

?GET,(var _name=%“CS SIGN”),{}

?RHCOPY ,true,{}

?CLOSE,true,{}
R

5474,

$358,

?ENDTOT ,true,{} ?RESETCR,true,{}

5463, assopen
?ARTREG_EXIST,true,{}
5440,

8453, assopen
?ARTID EXIST,true,{}
= 5369,

5368, sssoff % 5191, sssoff L{}> s192,

?SIGNON _EXIST true,{} ?RESUME, true,
= 8127, sssoff i

$427,

?ARTREG, true,{} ?PRINT _EXIST, true,{}

507,

1510, true,{}
E—

trued},

s166, sssoff 5167,

sssoff

?GET,(var _name=“CS_EVENT”) {}

5178,

sssoff

s160,

sssoff M s190,

sssoff

?GET,(var _name=%“CS_ SIGN”){}

149,
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